ITEM
STC-0001
STC-0080
STC-0081
STC-0097
STC-0098A
STC-0098C
STC-0098G
STC-0098R
STC-0100
STC-0201
STC-0202
STC-0203
STC-0204
STC-0206
STC-0250
STC-0251
STC-0350
STC-0351
STC-0352
STC-0353
STC-0353C
STC-0354
STC-0355
STC-0357
STC-0358
STC-0359
STC-0360
STC-0362
STC-0363
STC-0364
STC-0365
STC-0366
STC-0367
STC-0369
STC-0370
STC-0371
STC-0372
STC-0373
STC-0374
STC-0375
STC-0376
STC-0378
STC-0378K
STC-0379
STC-0379B
STC-0379K
STC-0380
STC-0381
STC-0382
STC-0383
STC-0384
STC-0390
STC-0391
STC-0392
STC-0393
STC-0394
STC-0396

STUDIO C PRICE LIST

CURR

ITEM DESCRIPTION PRICE

STUDIO "™C"™ COMPUTER 4,586.78
LIGHT BULBS FOR KNEE SPACE LIG 15.18
PLEXIGLAS COVERS FOR KNEE LIGH 40.88
SYLVANIA SOCKET 7.28
AMBER FLUTED LENS ITEM# 98 0.60
CLEAR FLUTED LENS ITEM# 98 0.60
GREEN FLUTED LENS ITEM# 98 0.60
RED FLUTED LENS ITEM# 98 0.60
SPARE LAMPS FOR PILOT LAMPS 16.22
JOYSTICK CABLE ASSY. 11.12
XLR TO RCA MALE 14.93
KID SWITCHER CABLE 35.65
JOYSTICK EXTENSION CABLE 44.85
STUDIO"C"™ CLOCK MOTOR 46.09
W1 WRENCH ASSY.3/4 TO 1-1/8 14.66
WRENCH ASSY. 1-3/8 - 4™ CYL. 46.69
WING RIGHT 165.42
WING LEFT 165.42
PERCH ASSEMBLY 306.70
HEAD SHELL FRONT/REAR 657.70
STUDIO"'C" HEAD COMPLETE 1,581.80
TEETH 21.87
FIBERGLASS SNOUT 40.23
UPPER TORSO 159.19
FOOT RIGHT 49.25
FOOT LEFT 49.25
EYELID RIGHT 52.88
EYELID LEFT 52.88
EYELASH 11.42
HAND RIGHT 98.68
HAND LEFT 91.85
EYEBALL RIGHT 52.88
EYE LEFT 52.88
EYEBROW LEFT 46.45
PHONE HAND SET 139.78
PIZZA 215.95
CORD 20.59
DIAL 37.13
PERCH BASE 43.72
BEAK 45.66
BIRD BODY 428.02
S138 X 112 61.82
RK 138 KIT FOR STC-0378 8.34
S158 X 112 73.95
BODY LEAN CYLINDER 105.74
RK 158 KIT FOR STC-0379 10.41
50-180 CYLINDER 162.64
042-11-E13 277.10
112-111-E13 213.84
ALSDBB X 1/4 45.99
CAP 37.03
NECK FUR 9.87
ARM RIGHT 54.63
ARM LEFT 54.63
RIGHT_HAND FUR 31.50
LEFT HAND FUR 31.49
EAR RIGHT 34.27

Page 1 of 8

Date:
Time:

4/26/2004
8:41:54AM



ITEM
STC-0397
STC-0398
STC-0399
STC-0400
STC-0401
STC-0402
STC-0403
STC-0404
STC-0405
STC-0406
STC-0407
STC-0408
STC-0409
STC-0410
STC-0411
STC-0412
STC-0415
STC-0416
STC-0417
STC-0418
STC-0419
STC-0420
STC-0420D
STC-0421
STC-0422
STC-0423
STC-0423K
STC-0423T
STC-0424
STC-0425
STC-0426
STC-0426K
STC-0427
STC-0428
STC-0429
STC-0430
STC-0431
STC-0432
STC-0433
STC-0434
STC-0435
STC-0436
STC-0437
STC-0438
STC-0439
STC-0440
STC-0441
STC-0442
STC-0443
STC-0444
STC-0447
STC-0448
STC-0449
STC-0452
STC-0453
STC-0454
STC-0456
STC-0457
STC-0458
STC-0459

ITEM DESCRIPTION
EAR LEFT

EAR SHELL RIGHT
EAR INSERTS RIGHT
EAR INSERT LEFT
EAR SHELL LEFT
SNOUT SILICONE
CLAMP (50)

CLAMP (50)

CLAMP (50)

DECALS

BODY CLIP (RIGHT ANGLE)(100)

BODY CLIP (100)
TRANSFORMER

RED LIGHT

MULTIPLE OUTLET STRIP
LIGHT SOCKET (SETS OF 25)
FLOURESCENT LIGHT
ELECTRIC BOX(SETS OF 25)
POP RIVET(SET OF 100)
SPACER (SET OF 100)

112 X 1

112X 1.5

2 STC-0420 CYLINDERS

112 X 2.0

150 X 1.5

S12X 12

RK 12 KIT FOR STC-0423
THREADED CYLINDER
S12X 34

CYLINDER EYE & EAR

S34 X 1-FTRA

RK 34 KIT FOR STC-0426/425
S138 X 1

THRUST BEARING

IGUS BEARING (SET OF 100)
IGUS BEARING

IGUS BEARING

IGUS BEARING (SET OF 100)
IGUS BEARING (SET OF 100)
IGUS BEARING (SET OF 100)
IGUS BEARING (SET OF 100)
IGUS BEARING (SET OF 100)
SHAFT COLLAR (SET OF 100)
SHAFT COLLAR

SHAFT COLLAR

SHAFT COLLAR

SHAFT COLLAR

SHAFT COLLAR

SPACER COLLAR
PRESSLOCK FITTING

SLIDE VALVE

QUICK DISCONNECT

HOSE ANGLE FITTING
CLAMP (SET OF 50)

LEVER

BASE BLOCK

RIBBED TUBING

BUMPER

RUBBER HANDLE COVER
ROD END

STUDIO C PRICE LIST

CURR
PRICE

34.27
29.99
127.90
127.90
29.99
206.47
18.98
0.46
18.98
18.64
3.25
2.31
10.24
6.88
10.81
10.47
28.05
42.56
17.19
17.19
49.20
46.15
92.31
52.77
77.99
41.96
4.95
47.84
53.75
43.56
44.86
6.27
62.24
4.93
1.08
1.05
1.05
1.05
1.05
1.05
1.76
2.14
0.66
2.91
3.29
3.99
4.14
6.06
3.82
2.88
26.45
3.12
2.31
0.46
41.39
228.39
35.65
4.99
2.88
6.19

Page 2 of 8

Date:
Time:

4/26/2004
8:41:54AM



ITEM
STC-0460
STC-0461
STC-0462
STC-0463
STC-0464
STC-0465
STC-0466
STC-0467
STC-0468
STC-0469
STC-0470
STC-0471
STC-0472
STC-0474
STC-0475
STC-0476
STC-0477
STC-0478
STC-0479
STC-0481
STC-0482
STC-0483
STC-0484
STC-0485
STC-0487
STC-0488
STC-0489
STC-0490
STC-0491
STC-0492
STC-0493
STC-0494
STC-0497
STC-0498
STC-0500
STC-0502
STC-0503
STC-0504
STC-0505
STC-0506
STC-0507
STC-0509
STC-0512
STC-0513
STC-0514
STC-0515
STC-0516
STC-0517
STC-0519
STC-0520
STC-0521
STC-0522
STC-0523
STC-0524
STC-0525
STC-0526
STC-0527
STC-0528
STC-0529
STC-0530

ITEM DESCRIPTION
ROD END

ROD END MALE
HEAD TURN END (FEMALE)
HEAD TURN END (MALE)
ROD END (MALE)
ROD END

ROD END/STUD

ROD END(FEMALE)
RUBBER BUMPER
RUBBER BUMPER
TUBING

CLEVIS

BRACKET
MOUNTING NUT (SET OF 100)
BEARING

BEARING

BEARING

NECK SHAFT

HEAD SHELL MOUNT
EYE LEVER

EYE LEVER

EYELID PLATE
EYELID MOUNT
EYEMOUNT

EYE PLATE
EYEBROW INSERT
EYEBROW MOUNT
NOSE PLATE

TORSO TWIST CLEVIS
NOSE SHAFT

JAW SHAFT

EYE SHAFT

EYE PIN

PARROT JAW PIN
SIDEBEND BEARING BLOCK
SPACER

LINKAGE

FOOT BAR

CLEVIS WELD MOUNT (FOOT)
HEAD MOUNT
CLEVIS PLATE

HEAD PLATE

HEAD PIN

WRIST WAVE PIN
PIN

TOP HEAD PLATE
SPACER WASHER
MAIN TORSO TUBE
CLEVIS MOUNT
NOSE BAR

NOSE LEVER

JAW MOVE

JAW & NOSE

JAW LEVER

JAW MOUNT

EAR CYLINDER BAR
EAR LEVER

ARM PLATE

ARM PLATE
MOUNTING PLATE

STUDIO C PRICE LIST

CURR
PRICE

6.19

7.82

6.84

6.99

9.14

6.99

7.73

7.73

7.87

8.65
36.11

4.72

7.75

0.24

6.35

8.81
15.42
26.45
27.65
30.74
10.35
21.85
25.30
27.03
26.36
16.33
24.04
35.82
33.97
10.35

9.20

7.42
13.80
23.45
36.40
12.01
17.04
29.07
33.14
50.83
36.94
38.72
15.02

9.22
16.19
30.00
42.79
2717
36.82
35.62
35.62
37.32
41.00
37.32
44.39
21.01
19.86
20.62
22.92
23.91

Page 3 of 8

Date:
Time:

4/26/2004
8:41:54AM



ITEM
STC-0531
STC-0532
STC-0533
STC-0534
STC-0537
STC-0538
STC-0539
STC-0540
STC-0541
STC-0542
STC-0543
STC-0544
STC-0546
STC-0547
STC-0549
STC-0550
STC-0551
STC-0552
STC-0562
STC-0563
STC-0564
STC-0565
STC-0566
STC-0567
STC-0568
STC-0573
STC-0574
STC-0575
STC-0576
STC-0578
STC-0580
STC-0582
STC-0583
STC-0584
STC-0585
STC-0586
STC-0588
STC-0589
STC-0590
STC-0591
STC-0592
STC-0593
STC-0594
STC-0595
STC-0596
STC-0597
STC-0599
STC-0604
STC-0605
STC-0606
STC-0607
STC-0608
STC-0609
STC-0610
STC-0611
STC-0612
STC-0613
STC-0614
STC-0615
STC-0616

ITEM DESCRIPTION

WRIST PIVOT

HAND PLATE

WRIST PLATE

BUMPER PLATE

LEVER

MAIN FRAME CROSS PLATE
SPACER

ROD END MOUNT

PIN

PIN

PIN

PIN SPACER

SPACER

SPACER

BODY SHELL BAR

BODY SHELL SUPPORT
STRAP

STRAP

TORSO TWIST BLOCK RIGHT
EAR CYLINDER BLOCK W/SCREWS
TORSO TWIST BELL CRANK
TORSO PLATE

TORSO PLATE

MAIN FRAME FOREBEND PLATE
LEVER BLOCK

MOUNTING PLATE

BASE CYLINDER WAVE
ACTUATOR MOUNT
SHOULDER MOUNT

WING MOUNT

ACTUATOR MOUNT
BUMPER

BASE PLATE

END PLATE

END PLATE

LEATHER WASHERS

CLEVIS

CLEVIS

WRIST WAVE CLEVIS

BASE

BASE INSERT

MOUNT BAR

PHONE MONT BAR

CLEVIS

SPACER

MOUNT BRACKET

LIGHT RING

SET SCREW 1/4 X 1/4

SET SCREW 1/4-20 X 5/16
FLATHEAD ALLEN 10-24 X 1 1/12
FLATHEAD ALLEN 1/4 20 X 3/8
FLATHEAD ALLEN 5/16 X 5/8
FLATHEAD PHILIPS MACH. SCREW
PAN HEAD MACHINE SCREW
PAN HEAD MACHINE SCREW
STEEL HEX HEAD BOLT
WOOD SCREW

THREADED TUBING

LOCK NUT

CLEVIS

STUDIO C PRICE LIST

CURR
PRICE

30.15
21.48
16.78
14.71
35.45
33.22
36.08
20.39
17.64
16.53
33.15
36.51
13.40
9.7
9.29
14.43
22.98
27.97
247.50
26.16
54.25
87.32
48.28
68.22
34.89
17.25
13.80
13.80
71.63
11.89
74.75
9.25
38.67
10.35
12.47
3.65
50.44
28.98
22.29
9.61
9.61
9.71
33.47
33.79
29.00
7.57
42.55
0.08
0.08
0.17
0.20
0.21
0.04
0.06
0.11
0.63
0.04
13.78
0.42
16.10

Page 4 of 8

Date:
Time:

4/26/2004
8:41:54AM



ITEM
STC-0617
STC-0618
STC-0619
STC-0621
STC-0622
STC-0623
STC-0624
STC-0625
STC-0628
STC-0629
STC-0630
STC-0631
STC-0632
STC-0633
STC-0634
STC-0635
STC-0636
STC-0637
STC-0638
STC-0639
STC-0640
STC-0641
STC-0642
STC-0643
STC-0644
STC-0645
STC-0646
STC-0647
STC-0648
STC-0649
STC-0650
STC-0651
STC-0652
STC-0654
STC-0655
STC-0656
STC-0658
STC-0659
STC-0660
STC-0661
STC-0662
STC-0665
STC-0666
STC-0669
STC-0670
STC-0671
STC-0672
STC-0673
STC-0674
STC-0675
STC-0677
STC-0678
STC-0679
STC-0680
STC-0682
STC-0683
STC-0684
STC-0685
STC-0686
STC-0686R

ITEM DESCRIPTION
CLEVIS

BEARING BLOK
FOREBEND CLEVIS
HEAD TURN CYLINDER
PIN

CLEVIS

MAIN BODY STRAP (BIRD)
ACTUATOR MOUNT
BEAK SHAFT

JAM LOCK NUT 1/4-28
LOCK NUT 5/16-18

JAM NUT 5/16-24

LOCK NUT 5/16-24

JAM LOCK NUT 5/16-24
JAM LOCK NUT

JAM NUT 3/8-24

BRASS NUT 3/8-24

#8 FLAT WASHER

# 10 FLAT WASHER

# 10 NAS WASHER
FLAT WASHER 1/4
FLAT WASHER 5/16
NAS WASHER 5/16
FLAT WASHER 3/8
FENDER WASHER 1/2
FLAT WASHER

SET SCREW 2-56 X 3/32
SET SCREW 6-32 X 1/8
SET SCREW 6-32 X 3/16
SET SCREW 8-32 X 3/16
PLASTIC PANEL
PLASTIC PANEL
SCREW

MONITOR BRACKET
CAMERA LENS
CAMERA SIDE PANEL
VIEW FINDER COVER
VIEW FINDER BRACKET
BRACKET

WHEEL

LCD LENS PANEL

LIMIT BRACKET
CAMERA SUPPORT
ALLEN BOLT

ALLEN BOLT

ALLEN BOLT

ALLEN BOLT

SPACER

RUBBER BUMPER
REGULATOR
MOUNTING PLATE
CAMERA MOUNT
CAMERA MOUNT

BALL PLATE

FLOW RESTRICTOR KIT
METAL COUPLER
HUBCAP CAMERA BASE
CEC VEST BUTTON
PIGMENT KIT

RED TONGUE PIGMENT KIT

STUDIO C PRICE LIST

CURR
PRICE

34.04
16.88
43.45
30.28
8.65
22.70
29.59
2,241.80
17.18
0.14
0.07
0.07
0.11
0.21
0.39
4.37
0.29
0.03
0.03
0.20
0.03
0.04
0.07
0.04
0.14
0.13
0.15
0.07
0.07
0.07
44.87
31.05
0.08
19.79
29.56
47.79
67.33
43.01
53.13
28.18
43.13
33.24
58.70
0.52
0.17
0.14
0.11
9.71
3.64
24.15
28.88
41.06
20.93
42.78
24.15
1.40
4.20
5.75
32.14
32.14

Page 5 of 8

Date:
Time:

4/26/2004
8:41:54AM



ITEM
STC-0687
STC-0689
STC-0690
STC-0756
STC-0757
STC-0757C
STC-0759
STC-0772
STC-0773
STC-0774
STC-0775
STC-0776
STC-0852
STC-0853
STC-0856
STC-0857
STC-0858
STC-0859
STC-0860
STC-0861
STC-0862
STC-0863
STC-0864
STC-0865
STC-0866
STC-0867
STC-0868
STC-0869
STC-0870
STC-0871
STC-0872
STC-0873
STC-0874
STC-0875
STC-0876
STC-0877
STC-0878
STC-0879
STC-0880
STC-0881
STC-0882
STC-0883
STC-0884
STC-0885
STC-0886
STC-0887
STC-0888
STC-0889
STC-0890
STC-0891
STC-0892
STC-0893
STC-0894
STC-0895
STC-0896
STC-0897
STC-0898
STC-0899
STC-0900
STC-0901

STUDIO C PRICE LIST

CURR

ITEM DESCRIPTION PRICE

24V POWER SUPPLY STUDIO"'C™ 46.00
INNER CAMERA HANDLE 29.90
THREADED STUD 3.85
TOUCH-PANEL SERIAL TERMINAL 754.60
TECHTERM DIAGNOSTIC TERMINAL 278.30
TECH TERM CABLE 32.78
MANAGER CONTROL PANEL PLATE 220.00
FINERGLASS CHIN 0.00
BOTTOM HEAD SCREW 5/16 1.05
PIN 8.63
#10 WASHER 0.03
ELECTRIC WIRER 0.00
SET SCREW 12-24 X 1/4 0.08
SET SCREW 12-24 X 5/16 0.08
ALLEN BOLT 1/4 X 1 1/4 0.20
ALLEN BOLT 1/4-20 X 1 1/2 0.20
ALLEN BOLT 1/4 X 2 1/2 0.29
ALLEN BOLT 1/4 X1 0.24
ALLEN BOLT 1/4 X 1 1/4 0.32
ALLEN BOLT 1/4-28 X 1 1/2 0.32
ALLEN BOLT 5/16-18 X 3/4 0.21
ALLEN BOLT 5/16-18 X 7/8 0.34
ALLEN BOLT 5/16-18 X 1 0.24
ALLEN BOLT 5/16 X 1 1/4 0.28
ALLEN BOLT 5/16-18 1 1/2 0.34
ALLEN BOLT 5/16-18 X 1 3/4 0.32
ALLEN BOLT 5/16-18 X 2 0.46
ALLEN BOLT 5/16-24 X 3/8 0.53
ALLEN BOLT 5/16-24 X 1 1/4 0.49
ALLEN BOLT 5/16-24 X 1 1/2 0.53
ALLEN BOLT 3/8-24 X 1 1/2 1.09
ALLOY STEEL ALLEN 6MM X 14MM 0.14
ALLEN BOLT 1/2-13 X 1 0.76
BUTTON HEAD ALLEN 4-40 X 3/16 0.06
BUTTON HEAD ALLEN 8-32 X 5/16 0.08
BUTTON HEAD ALLEN 8-32 X 1/2 0.08
BUTTON HEAD 8/32 X 5/8 0.10
BUTTON HEAD ALLEN 10-24 X 3/8 0.08
BUTTON HEAD ALLEN 12/24 X 1/2 0.10
BUTTON HEAD ALLEN 10/24 X 5/8 0.11
BUTTON HEAD ALLEN 10-24 X 0.13
BUTTON HEAD ALLEN 10/24 X 7/8 0.13
BUTTON HEAD ALLEN 10/24 X 1 0.11
BUTTON HEAD ALLEN 10-32 X 1/2 0.08
BUTTON HEAD ALLEN 0.11
BUTTON HEAD ALLEN 10/32 X 1 0.14
BUTTON HEAD ALLEN 10-32 1 1/2 0.22
BUTTON HEAD ALLEN 1/4-20 X 3/8 0.14
BUTTON HEAD ALLEN 1/4-20 X 1/2 0.14
BUTTON HEAD ALLEN 1/4-20 X 1/4 0.13
BUTTON HEAD ALLEN 0.38
BUTTON HEAD ALLEN 6MM X 20MM 0.32
LOCK NUT 5-40 0.07
NUT 6-32 0.03
NUT 8-32 0.04
LOCK NUT 8-32 0.04
LOCK NUT 10-24 0.06
JAM LOCK NUT 10-24 0.11
NUT 10-32 0.03
LOCK NUT 10-32 0.06

Page 6 of 8

Date:

Time:

4/26/2004
8:41:54AM



ITEM
STC-0902
STC-0903
STC-0904
STC-0905
STC-0906
STC-0907
STC-0908
STC-0909
STC-0910
STC-0911
STC-0912
STC-0913
STC-0914
STC-0915
STC-0916
STC-0917
STC-0918
STC-0919
STC-0920
STC-0921
STC-0922
STC-0923
STC-0924
STC-0925
STC-0926
STC-0927
STC-0928
STC-0929
STC-0930
STC-0933
STC-0934
STC-0934B
STC-0934BL
STC-0934BR
STC-0934G
STC-0934GR
STC-09340
STC-0934R
STC-0934W
STC-0934Y
STC-0935
STC-0936
STC-0956
STC-0959
STC-0960
STC-0961
STC-0962
STC-0963
STC-0964
STC-0COP
STC-0DTU
STC-0DVD
STC-0KID
STC-1234
STC-CHRO
STC-PANTS
STC-SHIRT
STC-SIGMA
STC-TECH
STC-TRAN

ITEM DESCRIPTION

JAM LOCK NUT 10-32

JAM NUT 1/4-28

LOCK NUT 1/4-28

ALLEN BOLT 5-40 X 1/2
ALLEN BOLT 5-40 X 3/4
ALLEN BOLT 5/40 X 1

ALLEN BOLT 6-32 X 14

ALLEN BOLT 6-32 X 5/16
ALLEN 6-32 X 1/2

ALLEN BOLT 6-32 X 5/8
ALLEN BOLT 8/32 X 1/4
ALLEN BOLT 8-32 X 1/2
ALLEN BOLT 8-32 X 5/8
ALLEN BOLT 10-24 X 3/8
ALLEN BOLT 10-24 X 1/2
ALLEN BOLT 10-24 X 5/8
ALLEN BOLT 10-24 X 3/4
ALLEN BOLT 10-24 X1

ALLEN BOLT 10/24 X 1 1/4
ALLEN BOLT 10-32 1/4

ALLEN BOLT 10-32 5/8

ALLEN BOLT 10-32 X 3/4
ALLEN BOLT 10-32 X1

ALLEN BOLT 10-32 X 2

ALLEN BOLT 1/4-20 X 1/2
ALLEN BOLT 1/4-20 X 5/8
ALLEN BOLT 1/4-20 X 3/4
ALLEN BOLT 1/4-20 X 7/8
CAMERA BULB 2342

AGC LEVELER

AS100 CHUCKIE MAC BRD.
BLACK HOSE

BLUE HOSE

BROWN HOSE

GREEN HOSE

GRAY HOSE

ORANGE HOSE

RED HOSE

WHITE HOSE

YELLOW HOSE

AS200 BIRD MAC VALVE BRD.
MAC VALVE

BOTTUN HEAD SCREW 1/4 - 20 X2""
STUDIO "C" CAMERA (ELOM)
STUDIO "C" CAMERA LENS(PELCO)
STUDIO "C" CAMERA (JVC)
STUDIO "C" CAMERA AC ADPTER(JVC)
SILICONE SEALANT TUBES FOR SNOUT
CAMERA GLASS COVER

COP CONTROLLER

STUDIO "C™ DTU

DVD PLAYERS

KID SW.

LASER DISCS FOR STUDIO "C"
CHROMO KEY

STUDIO "™C™ PANTS

STUDIO "™C™ SHIRT

SIGMA A/V SW.

STUDIO C TECH MANUAL
STUDIO "™C"" TRANSMITTER CARD

STUDIO C PRICE LIST

CURR

PRICE
0.11
0.06
0.07
0.15
0.22
0.25
0.06
0.08
0.07
0.10
0.11
0.08
0.10
0.08
0.08
0.13
0.11
0.11
0.17
0.11
0.10
0.13
0.14
0.24
0.13
0.14
0.13
0.15
0.14
611.60
2,635.60
0.22
0.22
0.22
0.22
0.22
0.22
0.22
0.22
0.22
739.20
34.50
0.00
363.00
172.50
330.00
172.50
17.94
7.74
1,614.12
2,543.20
766.10
196.52
0.00
2,695.00
102.26
132.05
2,695.00
5.75
1,650.00

Page 7 of 8

Date:
Time:

4/26/2004
8:41:54AM



STUDIO C PRICE LIST Date:  4/26/2004
Time:  8:41:54AM

CURR
ITEM ITEM DESCRIPTION PRICE

Page 8 of 8



PARTS PRICE LIST - STUDIO C

Date of Origin: 2004
Archived: 2-7-13
Submission by ChuckEZone
Verzion 1.0

The documents contained heredin are for educational wze only.
Plamae do not replicate, redigtribute, orf make any wunauwthorized
printinga. All dintellertual property including charactera,
artwork, photography. and glogansg are trademark and/or
copyright thedir regpective ownera,



